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Compatible Numbers

Use numbers
that are easy to use mentally.

Ex: 27.94 -5 = 25—



Practice using Compatible Numbers

a)4.55+5 b) 3.63 + 3 c) 1.56 + 4

d)98 = 5 e) 1231+ 2 )56.093+7

g) 73.3+5



To divide a decimal by a whole number follow
these steps:

1)Record the numbers without the decimal
point.

2)Estimate: 7.938 is close to 8

1)8+21is 4
The answer will be a little less than 4
because we overestimated.

4) Check by multiplying:
3.969 x 2= 7.938
So the answer Is correct.

c}‘mm



Practice

3.24 + 3 Estimate: Actual:

2) 11.25+5  Estimate: Actual:




Divide: 0.086 + 5

» Estimate. » C(alculate.
0.086 is close to 0.085.

0:085 i5'85 thousandths. N 5)23 ; ; é
Dividing ~ [ieneaes 700
Decimals S0,0.086 = 5 is about 0.017. 36
Less Than1l ] % 0
by a Whole 10
Number 0

50,0.086 ~5=0.0172

Since 0.0172 is close to the estimate, 0.017, the answer is reasonablé.



Adding
/,€1r0S

» Divide:9.784 = 5
Estimate first: Write 9.784 as 10.
10+5=2

50,9.784 + 5is a little less than 2.

Sometimes you need
to write zeros in the
dividend so you can
continue to divide until

\ 0\ 5 \o 8 /\/\ the remainder is 0.



1.

Try These

Divide until the remainder is zero.

2 4)6.3 7 4 o 2)49.6 7




+2.4+0.6

Begin by modeling 2.4. +think Of the diViSiOn 2.4 + 0.6 aS
the question “How many 0.6’s
are

i +in 2.47?” To answer this, divide

2.4 into groups of 0.6 each.

Replace the ones blocks with tenths blocks. You have a total of Group the blocks into groups of 0.6 each.

24 tenths blocks.

0.6 0.6 0.6 0.6

0.1 0.1 0.1 0.1

.* There are four groups of 0.6. So, 2.4 +~ 0.6 = 4.

/



To divide a decimal by a decimal
number follow these steps:

1) Record the numbers without the
decimal point.

2) Estimate: 24.3 + 0.6

3) 24+1 is 24

The answer will be a little more than 24
because we overestimated.

4) Divide as you would whole numbers:

Since the estimate was 24 place the
decimal after the O

405

6)2430

24
03
00 _

30
30

00

Divide until
the quotient
terminates.



Practice

b. 1.6 +0.8 c. 2.8+0.7 d. 32-+04 e. 3.6 +-09



